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gienfErat & faa A : Instructions for the candidates :
|, Qimme OMR 397 Y& G 3YAT 1.  Candidates must enter his / her
v gfEasr #FWiE (10 HF &) Question Booklet Serial No.
Havq ford | N . ' (10 Digits) in the OMR Answer
§ | . Sheet.
2 GUHTET FUrgYE Wﬁf # ?ﬁ' 2.  Candidates are required to give the:r
Kisc A § answers in their own words as far
N as practicable. )

3. QA SR EIferd-uT f"d'g(’ W W 3. Figures in the nght hand margin

e #d &1 “indicate full marks.

4. gEl & g Rﬁft'ﬁ li'q';'ﬁ C'n)' feo 15 minutes of extra tume have been
15 firz &7 3ifAfie o far mar & allotted for the candidates to read )

the questions carefully.

¥,
—

5 % §v9F 71 Gugl 8 — @UE-3r 09 5. This question booklet is divided nto

qUe-7/ two sections — Section-A and
Section-B.
(L-Z)l 10A | 60010-A Page | of 44

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

(L-2)110A

|
o

6.

Gug-37 7§ 100 awjfe wq &, faad o
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sfvard &1 varg & fE gvHl #
I ¥ W W 50 Iad FT &
qeqie f&91 0 9% 5 # [
1 3%F fuifta &1 q8t 3w F1 3oy
Fd T8 OMR I TIF H 7 7@
gt faweq & it / F13 @7 47 G
g F fEE W mERw &
@AY / avT wIred [/ &E / AGgT
31fE FT OMR Iv-gfevar & mahr
Fear war &, =gar wdar gRvime
3T FI ‘

G- § 30 7Y IANE 9T &, [H
@ fgt 15 gvat &1 Iav a1 Afvard
&1 g% 75 & U 2 F ila &1
s7% ST, 39 Gue ° 8 I T
v k2 ma & fod @ fet 4 mvAr
F I #rr z.h TAF 9\{@«’# fore
5 3% fvifea &1 &6
&

wmm@gmmw 8.

i quiaar atord &

In Section-A, there are 100 objective
type questions, out of which any
50 questions are to be answered.
First 50 answers will be evaluated n
case more than S50 questions are
answered. Each question carmes
1 mark. Darken the circle with
blue / black ball pen against the
correct option on OMR Answer sheet
provided to you. Do not use
whitener / liqguid / blade / natil
etc. on OMR-sheet, otherwise the
result will be invalid.

In Section-B, there are 30 short
answer type questions, ou! of
which any 15 questions are to be
answered. Each question cames
2 marks. Apart from these, there are
8 long answer type questions. ou:
of which any 4 questions are to be
answered. Each question
5 marks.

carmes

Use of any electronic appliances s
strictly prohibited.
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WUT - A / SECTION - A

'ﬂﬁm.m / Objective Type Questions

WV §ST 1/ 100 7% & T3 & @y aw fawew Ry v § frrd & vw a1 et
S0%¥ & 3Y 397 gRT g7 T WAt Rrweq w oMR Iz av Rl W

S50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50x1=350
1
1. ——=%TH
| V2
(A)  WThd dE B) ufmyg g
Cy  uRET d@E& D) TH A T
1 .
— isa
2
(A) Natural number Q (B) Rational number
| | O
- (C) Irrational nu @r (D)  none of these

2. qﬁaﬁmﬂﬁ;@\%‘%}z pix)= x2 4 2x +3 & YFF &, dl op F FH W
$
w3 | B -2
© 2 | D) -3
If « and B are the zeros of a quadratic polynomial p(x)= x2 +2x + 3, then the

value of ap will be

(A) 3 B) -2
(C) . 2 (D) -3
(L-2)110A [ 60010-A Page 3 of 44
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3. WEUZ 4x? +542x-3 *Wﬂ?-ﬁg?

W -3/2,42 (B) —3\/5,-‘{2_3
_3"'5 ﬁ " .y e
cr S22 (D) 39 4 g &I

What are the zeros of the polynomial 4x? + 5¢y2x-3 ?

A)  -3J2,42 B - 35,%‘%
(C) '_—32"/—5.—? (D)  None of these

4. AR I FEAH FEEA 15870 ¥ UF ITH! HoHo 23 &, Al ITH! FoTo AN

(A) 690 B 609

(C) 669 (D). 906

If the product of two numbers is 15870 and their HCF is 23, then their L°M

will be

(A) 690 S B) 609
Q

(C) 669 @ (D) 906

5. 4% a=(22x3%x5%). 3 b=(23x3?x5), T Ho¥o (q, b) &M
( ( )

(A) 90 (B) 180
(C) 360 (D) 540

If a=(22x3%x5%) and b=(2°x3°x5), then HCF (a, b) is

(a) 90 B) 180
€ 360 | (D) 540
(L-2)110A [60010-A Page 4 of 44
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6. Prefefam d @ ¥ g it 2
(A) %1’*1 (B) 2-x? +3x
1 3
_(,q x -1 (D) X
In the following which is not a polynomial ?
A %x +1 (B) 2-x?+J3x
1 3
' D
(C] x -1 l' ) X
7. wte HE x+ 2y -8 =0 AU 2x+ 4y =16 F 8
(A) AT B A
© w1 & AW (D). TR wi T
The system of equations x + 2y -8 =0 and 2x + 4y = 16 have
(A) unique solution \Q'Q\ (B) infinitely many solutions
(C) no solution §Q§ (D) none of these
‘b' X -
8. uﬁfﬁﬁm%@%rﬁﬂmm4@m B A | RPIGE Tt
(A) x2edx+4 _t8) x?-4x+)
(C) x?-x+4 D) x*+adxrl
If the sum of the zeros of a quadratic polynomual is 4 and their product is L
then that quadratic polynomial is
A} x’+dx+d (B) x"-4xrl
€ x*-x+4 (D)  x*raxel
(L-2)110A 60010-A Page 5 of 44
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9. A T P axs ky+8=0 TH 20+ 2y+2=0 FT T e & &, A

A) k=4 “B) k=4
C) k=-4 D) FH ¥ HE T

If the system of equations 4x+ky+8=0 and 2x+2y+2=0 have an unique

solution, then
(A} k=4 (B) k=4

(C) k-4 (D) None of these

10. fraAfafga o w99 faa sdwor 2

(A) x? - 3Jx+2=0 (B) )c+i=.’c2
x

©  x*+L=5 D) 2x? - 5x=(x - 1)?

- X Q’Q\ \
S
Which of the followi@fs a gquadratic equation ?
N
2 D 1

(A) x“ -3 2=0 (B) X+ == x2

X
1 _
(C) x2+x—2=5 D) 2x? -5x=(x -1)?

11. afg GH0T ax? +bx+c=0 %W@W%wﬁlaﬁ

(A) a=b B) b=c¢
J$ef c=a o (D) ¥ A HE &
(L-2)1 10A | 60010-A Page 6 of 44

https://www.bsebstudy.com
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

If the roots of the cquation ax? +bx+c=0 are reciprocal of each other, then
(A) a=b B) b=c
. (C) c=a (D) Nonc of these
12, feu@ Tl o2 —6x42= 0 & qEl @ aAm 2
(A) 2 B) -2
€ 6 D) -6
The sum of the roots of quadratic equation x? —6x+2=0 is
(A) 2 (B} -2
) 6 - D) -6
18. x=6FH ’chE Fdt G @1 @ 2

(A) AT & FHIWR N OBl y- & gHI
K\Q
(C) aﬁﬁg#a@% (D) ¥ § &3 7
N
| W
What type of straight line will the graph of x = 6 be ?
(A) Parallel to x-axis (B) Parallel to y-axis
(C) Passing through the origin (D) None of these

14. FefafEd 5 @ H-a1 fFams o ®# oe fag g o

AX (2,0) B) (0,2)
) (2,2) (D) ¥H 9 *I3 ¢
(L-2)110A [ 60010-A Page 7 of 44
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Which of the following are the co-ordinates of a point on x-axis ?
(A (2,0) B (0,2)
€ (2,2) (D)  None of these

1. &z i A.p. &1 wom W o wd @ S 4 @, At 3T AP HF a9 WEM
(A)  a+(n-2)d By a+(n-1)d

(C) a+nd (D) a-(n-1)d

If a is the first term and d is the common difference of an A.P., then n® term of

the A.P. will be
(A) a+(n-2)d B) a+(n-1)d
(C) a+nd (D) a-(n-1)d

16. GHAT 2oit 10,7, 4, .. F 30 IS &

(G S5 (D) 67

30t term of the A.P. 10,@ .18

A 75 \Q‘§) B -77
© 55 @QQ (D) 67

17. HHIR Uit 7, 13,19, .., 205 5 GG H GEE FaR ¥ )
(A) 33 AB) 34
© 43 D) 44

How many number of terms are there inAP.7,13,19, ... 2057

(A) 33 (B) 34
(C) 43 - (D) 44
(L-2) 110A | 60010-A Page 8 of 44

https://www.bsebstudy.com
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

18. WHiAR WU 3,5,7,9, 11, ... @ ndl Ug AW

B 2n+1 B)  2n-1

(C) 2n+2 (D) 39 | F13 A7

The n™ term of the A.P. 3,5, 7,9, 11, ... will be

(A} 2n+1 (B) 2n-1

(€) 2n + 2 (D)  none of these
19. g (4,-3) Fmfagaqe

(A) 25 - Bl .5

(C) 10 (D) 15

Distance of point ( 4, - 3 ) from origin is

(A) 25 Q B) 5

© |
(C) 10 §§ (D) 15
NG
Q NS
20.  sin? 65%¢sin? 259 FT HA &M
7 g B) ©

Cc) -1 D) 3B Y &®E A

The value of sin? 65°+sin” 25° is

A) 1 B) 0

(C) -1 (D} none of these
(L-2)110A ' [ 60010-A Page 9 of 4+
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21. Faﬁaﬁ(3.01@(-5,4)3#&?{1#61@1’@@33?@%7;*%?

) (1,2) B) (-1,2)
€ (0,2) D) (1,-2)

The co-ordinates of the mid-point of the line segment joining the points ( 3, 0 )

and (-5, 4) are

A (1,2) B) (-1,2)

€ (0,2) (D) (1,-2)
22. g (3,5)F e

(A) 3 (B) -3

€ 5 (D) =5

The abscissa of the point (-3, 5 ) is

a3 O ® -3

(C) 5 Q@ Dy =95
23, fedv aqute o fag & Frams @

(C) (—2=-k3l (D) (2,-3)

The co-ordinates of a point in 2m quadrant are

(A (2,3) B  (-2,3)
c (-2,-3) (D) (2,-3)
(L-2)1 10A | 60010-A Page 10 of 44
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24, fiwdlt Bopr & it & Prames (-3,0), (5, 2 ) A (-8, 5) 8 @ ITF FTF F

frrams i
A (2,1) 4B (-2,1)
€ (2,-1) (D) (-2,-1)

If the coordinates of the vertices of a triangle are (-3,0),(5,-2)and (-8, 5)

then the coordinates of the centroid of the triangle will be
(A} (2,1) B) (-2,1)
€ (2,-1) D) (-2,-1)

25. (s ABC ©F wmeior firget & frd 2= 900 %, @ cos (A+ B) FHH &

JAY 0 B 1
1 J3
© 1 (D)«

Triangle ABC is a right angled triangle inwhich £C = 90°, then the value of

cos(A+ B)is
( )i < QKQ
(4) 0 0 B 1
(C) -é— QQ\ | (D) %
N _
26. 28 cm M AT IR Ht IR F47 g 2

(A) 44 cm _JB-)’ 88 cm

_(C) 78cm (D) 399 | &g &l
What is the circumference of the circle whose diameter is 28 cm ?
(A) 44 cm (B) 88 cm
(C) 78cm (D)  None of these

 {L-2)110A [60010-A Page 11 of 44
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27.  F9 $ GaQ o A sendt &

(A) = By~ =

(€  wwitmE . o) T ¥ @ T
The longest chord of a circle is called

(A)  Radius (B)  Diameter

(C)  Tangent (D)  none of these

28.  tanOxcotO HI OF &

A 0 87 -
(C) 2 (D).° -1

The value of tanOxcot is

(A) 0 (B) 1
(C) 2 ‘@Q

&6 D) -1
tan 35° | cc °

29 ot55° tmn12e T
Q

(A) 0 (B) 1
©r 2 (D) 39 € &I Ta&

tan35° cot78°

cot55° * tanl2° 18 equal to

(A) O (B) 1

(C) 2 (D) none of these
(L"2)1 ].OA 600 IO‘A Pagc 12 of 44
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30. 3% sinﬁ:%,ﬁacnsn %1 919 &I

h? - a
b By Y <

a
I e ©

Q|

If sinB :%, then the value of cos 8 is

(Bj

(C) 4 . (D)

9 o

31. dfg sin8=~%, al cot 6 BN

1
- B V3
(A) 73
N
K\Q
(C) -";i 5@ D) 1
\Q‘G
Q
If sin8=—§§§hcn cot 8 1s
£ B 3
(A) 7
V3 D) 1
€ =
30, Tt J3tan20=3, AF 0 HI HHA &M
(A) 15° (B)  30°
(C) 45° D) 60°
(L-2)1 ].OA 60010-A Page 13 of 44
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If V3tan20=3, then the value of 0 will be

(&)  15° B 30°

(C)  45° D) 60°
33, sec(90°-0)=

(A) tan 0 _ J,B( | cosec B

Q) sin 0 _ (D) cos O

34. RFE=naw ga 9 o0 & fFemz & eawe @im

2% RO tR20

(A) 180 B T80
E)
2x RO ntR=8

The area of a scctor of an angle 07 in the arcle with radius R 1s

2

2z R0 B nR-0

(A) 180 Q (B) 180

Q
N ,
2a R0 & R0
i 316 i s
35, @ gl & FARCA FANE 9 4 &, ekl aiuEA w1 IE(E g
A~ 3:2 B) 4:9
€ 2:3 (D)  81:16

The areas of two circles are in the ratio 9 : 4. The ratio of their circumferences is

(A} 3:2 B) 4:9
(C) 2:3 (1) 81 lo
(L-2)1 10A | 60010-A Page 14 of 44
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36. r v AT andel W WqUl g @7 SFwe g

/wrl/ 3nr? (B) 4nr?

(C)  2nr2 (D) 3H & F1E
The total surface area of a hemisphere of radius ris

(A)  3nr? (B)  4nr?

(C) 2nr? (D) none of these

37. o Io1 & 2uR #Y B 2 om 2, T FAE 14 cm B4l 39 A6 1 AT

.

Ml

/(a.-}/ 176 cm 3 (B) 196 cm*
i

(C) 276 cm® Q (D) 352 cm?
\Q

O\
If the radius of the t@ of a cylinder is 2 cm and its height is 14 cm, then
&

volume of the cyli Qr will be

$
(A) 176 cm® (B) 196 cm >
(C}) 276 cm> (D) 352 cm*>

38 gfz fadll Tiiel &1 219 14 cm &, A1 391 3T &1

3
(A) 1428 cm’ (B) 4312 cm

o B2 em? o) Y A
(L-2)110A | 60010-A Page 15 of 44
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The diameter of a sphere is 14 cm, then its volume is
3
(A) 1428 cm* (B) 4312cm

(€) A2 (D)  None of these

30, fod viF ¥ MR F B 5 om & @ IFE FAE 12 cm &, A ITFH T TS F
&I &M
(A) 60 mcm? /LB}--"" 65 ncm?
(C) 30 xcm? D) FH A & FE
If the radius of the base of a cone is 5 cm and its-height is 12 cm, then &
curved surface area is
(A)] 60 zcm? (B) 65 rcm?
(C) 30 nem? SQ\Q&Q (D)  none of these
5‘2’
40. afzfaﬂﬁurfaﬁg@qm 5em €, A JUHT WP I8 T GG &
% 150 cm? (B) 125 cm?
) 100 cm® D) T A T
If one side of a cube is 5 cm, then its total surface area is
(A) 150 cm? (B) * 125 cm?
(C) 100 cm? (D)  none of these
(L-2)110A [(60010-A Page 16 of 44 -
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41].

w20 faem weRa denaHt @ g R

(A) 100 (B) 210
_ley” 400 (D) 420
The sum of first 20 odd natural numbers is
(A) 100 (B) 210
(C) 400 D) 420
42. 2,5,7,3,3,6,3,8,6, 3% 9geish R & ?
(&) 6 ® 3
< 2 (D) 8
What is the mode of 2, 5,7, 3, 3,6, 3,8,6,37?
(A) 6 B) 3
Cc) 2 (D) 8
S
43. a A b Hﬂg@m &
\Q‘b
' a QQQ B a+b
@ -z B =5
o 4z=b D) & W HE I
(C) )
The arithmetic mean of a and b is
+b
ab : B) 5
(A) 5 2
a-b “ (D)  none of these
(C) 5
17 of 44
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44,  fodt aiamar anoft & ana 3t agers HH: 08 A 16 &, 7@ Tifege Zmit

(A) 22 . (B) 235
(C) 24 (D) 245

The mean and mode of a frequency distribution are 28 and 16 respectively, then

the median is
(A) 22 (B) 235

(C) 24 | (D) 245
45. 2,7,4,9,5,6, | %I HigH &

(A) 6 B) 5

C 4 (D) AT HE T

Median of 2,7, 4,9,5,6, 11s

A) 6 (B) S
(A) \§®
(c) 4 &g\ (D)  none of these
AR ' .
46. ﬁmﬁaﬁaﬂﬁﬁg@\%mwmﬁmﬁwqﬁﬁwﬁt% ?
W 1S (B) %
C) 25% (D) 03

Which of the following numbers cannot be the probability of an event ?

. ' 3
@ 15 ® 3
(C) 25% (D) _0-3
(L-2)110A [60010-A Page 18 of 44 -
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47. fof¥aa v &) wifasar o<t @

A1 | B O

(C) % (D) 15

The probability of sure event is

A 1 (B) O

(C) (D) 15

1
2

48. UH 39 M &l 7@t frear 9 em & faaeies us 319 o= g4 ma fras Fe

9 cm %, at l-;\l("l-i H'ﬁ \;)ﬂl‘% ﬁ’"ﬁ

(A) 12 cm (B) 18 cm
(C) 36cm (D). 96 cm

A metallic solid sphere s&@dius 9 cm is melted to form a solid cvhinder

radius 9 cm, then thgb.@gght of the cylindcr is

¢
[0}

(A) 12cm @QQ\Q (B) 18cm
(C) 36cm (D) 96 cm
49, Fret SRR @ R FOE 0F IEH AHA W BTN H A WK &, A gF w
IFGF HI0T &
(A) 0° (B) 30°
(€ 45 (D)  60°
(L-2)110A [ 60010-A Page 19 of 44

https://www.bsebstudy.com

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

: on the ground.
If the height of a vertical pole is equal to the length of its shadow Br

then the angle of elevation of the sun i8
w o @ 3

(C) 45 D)  60°

50. AR q AR p ur TN ¥, A g 3 b H FoHo &

(A) a (B) b

(C) 1 (D) ab

If a and b are prime numbers, then HCF of a and b is
(A) a (B) b

© 1 | (D) ab

51, T g 3R W b & 0 a = b+ r1 VTGS F [ HH-H WY FEE 2

(A) 0<r<b (B) O<rsb
(C) 0sr<b \\Q\Q (D) r>b
S
For dividend a a%’&visor bin a= bg + r which relation is true of remainder r -
Q
(A) oers%Q$ (B) O<rs<b
(C) Osr<b (D) r>b

52. fgATd THET 2x% - 6x+7=0 & el Sl WHA g

(A)  ardfas dAR TAAE (B) aTfa® AR qER
(C) Fardfa® D) T q =3 T
(L-2)110A | 60010-A Page 20 of 44
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The nature of roots of quadratic equation 2x?-6x+7=0 is
{A) real and unequal (B) real and equal

{C) not real (D) none of these

53. 3% 30 =90°, A cos 0 F TF

(A 1 1
(B) 3
e & o
2 (D) 7
If 36 = 90°, then value of cos 0 is
(A 1 L
® 2
(C) -‘/QE D)~ L
J2
54. 3qfg cos(a+fB)=0, d9 sin(a-p) &
| N
: Q
(A) sin o gﬁ\ (B) cos f3
&
(C) sin2 N (D)  cos 2B
N
If cos{a+{%=0, then sin(a-p) is
(A) sin o | (B) cos f3
(C) sin 2a (D) cos 2p
55. GHUT x+ y= 14 3R x—y=4F oA E
(A) x=2,y=4 (B) x=9,y=5
C) x=-2,y=-4 (D) x=6,y=-5
(L-2)110A [60010-A Page 21 of 44
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Solutions of ¢quations x+y= 14 and x-y = 4 are

(A) x=2,y=4 _ B) x=9,y=>5
C) x=-2,y=-4 (D) x=6,y=-5
- ue AB -—B_Q Hﬁ’
56. THET AABC T ADEF B 51 % =ED
(A) /B=/E (B) ZA=.D
(C) iB=-D (D) JA=2F
; BC

In similar AABC and ADEF 1t 1s given that %% “TD then
(A) .B=.E By LA=sD
(C) LJB=. D (D) ;AL F

57 fvst Apc @ pEjBe 3F IFT A ¥ i AD.- 24 cm, AE = 32 cm 3

EC =48 cm, -4 AR #TT0

(A) 36 cm (B) 6 cm
‘\\Q® 7.2
C 64 cm (D) 2 cm
(C) ®
In AABC. DE| pf&é@hch that' AD = 24 cm, AE = 32 cm and EC = 48 cm. Then
AB s P
(A) 36 cm (B) 6 cm
(C) 6-4 cm (D) 72 cm

sg fed 9o E & died & &1 Aigkal p(E) &, A1 FAifnd # 2w w7 2

(A) P(E)<0O (B) P(E)>1
C) -1sPE)s] \/@/ 0<P(E)<]
(Lf2] 110A [60010—}\ Page 22 of 44
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If the probability of occurrence of an event E is P (E ), then which of the

following is correct ?
(A)  P(E)<O (B) PE)>1

() -1sP(E)sl (D) OsP(E)s]
59.  sin60°cos30°+cos60°sin30° T A &M

(A) 1 - B) O
cy 2 ' o) -1
The value of sin60°cos30°+cos60°sin30° is

(A) 1 B O

(C) 2 . Dy -1

60. fag P(5,6)F x3@ A ¢

A) 5T N B) 63

S D) 133
@ 2®% (O (D)

QQ
N "

Distance of point P( 5, 6 ) from x-axis 1s
(A) 5 units (B) 6 units
(C) 2 units (D) 1 unit

61 WA 324636363 ¢

]

(A)  FFa wE @)  ufer wem
() e GE (D) T H FR T
(L'Q)l 10A | 60010-A | Page 23 of 44
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The number 3-24636363 is
(A) a natural number (B)  arational number

(€) an irrational number (D)  none of these

62.  ifefigd & #9-w1 fm &1 zvmer waR @@ @ 2

A) L7 a7
105 B 370
15 3

© 58 D 165

Which of the following fractions is expressible as a terminating decimal ?

17 77

- 1os ~ ®  3ig
15

c = _3_

88 O ¢ 160

63. TEEW 144 U 372 FT To@o &M

(A) 60 g\@@ (B) 24

€ 12 Q\@Q’ D) ¥V Hi§ 7
The HCF of ﬁ??numbers 144 and 372 is

(A) 60 (B) 24

(C) 12 (D) none of these

64. 7T o, B, ¥y TgUS ax3+bx2+cx+daiwﬁ'a} B+ By +ay =

b
W g ® 3
b . -
© o =
.
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Ifa, B, y are the zeroes of the polynomial ax> + bx? +cx+d, then af+py+ay=

w 2 (B)

Qn

© =2 (D) :a—d
65. TR TR 2x2+ x+k T TH YTF 38 A k F 9 &M

A 21 B) -21

(€ 20 D) ¥ { FE A

If 3 is a zero of the polynomial 2x2 + x+k then value of k is

(A) 21 (B) -21

(C) 20 (D) none of these

66. I TEIR p(x)=4x3—5x2+3<<\+7 & IH o, p AR y &, @ o py F GHF FW

Q
N\

5‘2’6 5
QQ
N

(A)

|
B

3
' (© o -3

NI

If «, § and y are the zeroes of the polynomial p{x:=4x“— Sx°+3xv+7. then

value of a By 18

S
@ - B 2
3
© I o -3
(L-2)1 10A 60010-A Page 25 of 44
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n ?
67.  uflErn fyem 2x+3y=7, 6x+5y=11 % fe & L

(A) A & @ % A

©  afd g (D) il @ A

The system of equations 2x+3y=7 and 6x+5y=11 has how many solution:

(B) No solution

(A) Infinite solutions
(C) A unique solution (D)  None of these
68. AR Waw wriiwtuit &1 9 aiE ¢, A IE G &
(A) |EER @ B) Wi @
(C) Hurdt End D) T q FIE W@
If a pair of linear equations is inconsistent, then their graphs will be
A allel li Q'Q\ i i i
(A) parallel lines K\ (B) intersecting lines
(C)  coincident 1%& (D)  none of these

69. i‘&ﬁ’ﬂ?ﬂﬂﬁW@qx 2y=0Td 3x+4y=20FT&A X

(A)  x=4,y=2 B) x=2,y=4

©  x=ly=2 D) 9§ = T

The solution of pair of linear equations x - 2y =0 and 3 + 4y =20 is.

(A) x=4,y=2 B) x=2,y=q

(€ x=ly=2 (D) none of thege
(L-2)110A [ 60010-A Page 26 of 44
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70. AR 65 TAUT 117 HT HoWo 65 m—- 117 F ETH L, @t m & O &

Ay 1 (B) 2

< 3 (D) 4

If HCF of 65 and 117 is in the form of 65 m - 117 then the value of m is
(A 1 (B) 2

© 3 D) 4

71 3R EE TR 22 saxs6-0 WU T 22 A 0= 2
a7 B) -7

(© o -Z

N~

If one root of the quadratic equation 2x2 +ax+6=0 is 2 then q = ?

(A) 7 By -7

7 7

© 3 o -7

™
72. trﬁurﬁwx9+2(k%®8}+9k=o%warmﬁaaﬁtwﬁ.aikmm#ﬂ
N3
©
N B) -1 4

(C 13 -4 (D) -141 -4

If the equation x? +2(k +2)x+9k=0 has real and equal roots, then the value of

k will be
(A) lor4 B) -lor4
(C] lor_4 (D’ -lor-4

Page 27 of 44
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73, THET £? - x4 1ol a;qaﬁmfaﬁaaﬁﬂahﬁﬁ ?

A 1,-1 B) 2,1
) 0,1 (D) 0,2
Which of the following are the roots of the equation x2-2x+1=17
A)  1,-1 (B J2,1
€ 0,1 D) 0,2

74, x2+px+q=oﬁwﬁﬁ$mqmmﬁm%faﬁﬁ@ﬂ#m‘ ? -
2
P_
@ o ® %
4 | =P
© £ O 3

Which of the following is the value of g to make x2+ px+q=0 a perfect square ?

pQ
(A) O \\Q\Q B =
Ny
-p
© 37 & o 5
$
75,  WARR S 18,21, 24,27, .. F GH-3HR ¥
A) 08 4B 03
€ 02 (D)  FH q R T
The common difference of the A.P. 1-8,2-1, 2-4 2.7, ... is
(A) 08 - (B) 03
cy 02 (D) none of these
(L-2)110A [ 60010-A Page 28 of 44

~ https://www.bsebstudy.com
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

ﬂﬁ2x+3,5x+1,6x+smﬁaﬁﬁﬁxﬂmm

76.

(A) 2 (B) 1

© 3 D) FH § HI5 @

If2x+3,5x+ 1,6x+ 3 are in A.P. then the value of x is

(A) 2 (B) 1

(©) 3 (D) none of these
77. WHIR 3G 117, 104, 91,78, .. FT gai Gg ¢

‘,,/"

(A) 25 /pa( 26

(€ 24 - (D) . TR & &g &l

8th term of the AP, 117, 104, 91, 78, ... is

A 25 B 26

(A) \\Q@ (B)

S
(C) 24 %;\ (D)  none of these
N

78. afg fwdt gwi H 087 UT (2n+ 1) &, A 3]G TUW &9 931 F1 07 T

(A) 15 | (B) 12

) 21 (D) 3H ¥ HIg 47

If nth term of an A.P. is ( 2n + 1), then the sum of its first three terms is

(A) 15 (B) 12

(C) 21 (D) none of these
(L-2)110A 60010-A Page 29 of 44 -
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T @ 9 a9
79, aR faqaft A (- 6,5 ) T B (-2 3) F B A TEEE -

P(%A) g, @ q 1 \/E

(A) -8 B 3

) -4 (D) 4

If P('%.“) is the mid-point of the line segment joining the points A (-6, 5) and

B (-2, 3), then the value of a is

(A) -8 B) 3
C -4 (D) 4
80. dT A(-1,4), B(5,2)T C(-4,—15}WMBC$?M%'H‘[W 7
g g\\@
¥
\Q‘Zr
(A) {0,~3)$Q B) (0,3)
N
(C) (3,0) (D) ¥H /@ Hg 7
IfA(-1,4), B(5, 2)and C(-4,-15) are the vertices of a AABC, then i
centroid is
(A)  (0,-3) (B) (0,3)
(€ (3,0) (D)  none of these
(L-2)110A | 60010-A Page 30 of 44
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81. ¥y . .
F"?*“Are.-mmms_mm}ﬁmmmmﬁmma

Hﬂﬁ\:ﬁamg 5
(A} 2:3
B 3 5
(C) 1:2 :
(D} 9 O 3 T4

In what rat;
10 docs P .
0cs the x-axis divide the line scegment joining the points A (2, - 3)

and B(S ., ¢ ) internally ?
{A) 2:3
(B) 3:5
(o] 1:2
(D) none of these

82. 3 i : i
ﬁqucni@mpo,BC$mwmiﬁs.4P=x,Ps-4cm.

AQ= 14 cm, QC=7 cm, @ x HT g &

(A} 8cm (B)" 2 cm

FH W 1§ @

(C) 4d4cm’ {D)

| . @
In triangle ABC, line s@qcnt PQ'is parallel to BC such that AP = x, PB = 4 cm
Q, t ] *
AQ= 14 cm, OC = {Q@%, then the value of x is

(A) Bcm @QQ B) 2cm
(C) 4cm (D)  none of these
83. . & WHEY PN & A% & WA 25 ; 49 § A I WA WMiAwR T AW
g
(A) 7:5 B) 5:7
(C) 49:25 (0) FH |
Page 31 of 44 ) -
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The arcas of two similar triangles are in the ratio 25 : 49. Then the ratio of their
corresponding medians is

(B) 5:7

none of these

(A) 7:5

(C) 4925 (D)

84, Uﬁ'ﬁ‘ﬁ;{ﬁcﬁa=4cm'b=5cm_3:|‘nc-3cm-a}‘43-?

(A)  60° (B) 90°

45° D) TR A

(€)

In triangle ABC, @ =4 cm, b=5cm, and c¢=3cm, then £B=7?
(A)  60° (B) 90°
(€ 4s° (D)  None of these

85. %ﬁmf@ﬁﬁw%@ﬁ@wﬁmﬂmmﬁ@fﬁmaﬁﬁi?
A | B) .2

C) 3 & D) T X e T
O - _
How many tangents ‘g@ be drawn on one point of a circle from an external
pOiﬂt ? Q‘Q\Q ‘
$
(A) 1 ' (B) 2
(C) infinite (D) none of these

86. WP@W.OWWWﬁWW%'“ﬁOT-ﬁm@ OP = 10 cm,
Wyl @1 pr &t @arg g

(A) 8cm (B) 10 cm
€ 12cm © (D 16cm
(L-2)110A | 60010-A Page 32 of 44
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87.

88.

___/_——_—_-—_
(L-2)110A

PT is a

and OP= 10 ¢m, then the length of tangent PTis

(A) 8 cm (B)

(C) 12 cm D)

10 cm

16 cm

t , _ )
angcnl (lrrlwn. fi'()ln a pr}]nt P‘ to H’](: (:irclc With Ccntfﬂ O' If O’T - 6 cm

a9 B QA Bewsdt & @ w1 w1300 & At I 2 owEA F I W H

@stt & g &1 o am
(A) 65° (B)
ey’ ,50" (D)

If the angle between two radii of a circle is 130°, then the an

tangents at the ends of these radii is

(A) 65° (B) . 40°

o | (D)  90°

50

(C) \\Q@

: Sy W ¢ ?
Freferfiaa ﬂmgg@*ﬁ = :

@$
(A)  tan60° By cosdS

(D) cosec45®

(C) sin ;'30"

Which of the followin

(B)

(A) tan60°

(D)

40°

90°

1
—_7
g has value equal to ﬁ

cos45°

cosec4S®

gle between the

(c) sin 30°
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89,

90.

91.

92.

sin? 90 - tan? 45°=

(A) 1 B) O

© -1 U

afg g = 45“, M tan? 0+ cosec20 F A &M

(A) 1 (B) 2

© 3 D) T A FE T

If 6 = 45°, then the value of tan? 8+ cosec20 is
(A) 1 (B) 2
€ 3 (D) " none of these

sin 30° + cos 60° =

A V3 B 2
(B) 73

© 1 \Q;\% (D)
QQ
S

T sec?B(1+sin0)(1-sind)=k T k FT O ghm

B |~

(A) O (B) 1
< 2 D) 3

If sec? 0(1+5sinB)(1-sinB)=k then the value of k ig

(A 0 B 1
C 2 D) 3
(L-2)110A [ 60010-A Page 34 of 44
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9. U6 F9 & firegy - '
ﬁcml}”’ﬂ%‘ﬂo%twhm-maosmmﬁfﬁ

“AOB=30", T a ap ) shart 3
(A)  nem

(B) 2% cm
(C) l ecm

(D) 6 cm

Is at O. A sector AOB is such that

ZAOB = 30°
OB = 30°, then length of minor arc AB is
(A) T cm
(B)  2ncm
(€) 1em (D) 6
cm

94, wﬁméﬁwmwmaﬁ:mzwmﬁ?

(A)° 27 ncem? (B) 72 ncm?
(C)  22ncm? Q D) FH | P @
K\Q
What is the area of a @i-circular field whose diameter is 24 cm ?
N |
A 27 rem2aY
(A) ncm@ ' (B)  72ncm?
(C) 22 n cm? (D) none of these

95.  3fg ferdlt et bl fawan amt T < S ¥ A e Men v 7@ Mew s W

3{ard g

(A) 1:8 B) 8:1

¢ 1:4 D) 4:1
(L-2)110A | 60010-A Page 35 of 44
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If radius of o sphere is reduced to half then the ratio of volumes of origin;

sphere and new sphere is
A)  1:8 B) 8:1

(C) 1:4 : (D) 4:1

0. U NE WP A F abwer 18 W2 ¥ o I Tk HAE, 6 F A s
%Wﬁgﬁ%,ﬁ’rv'@éawaﬂ&%ﬂﬁ%
(A) 6T 2 B) 122
() 184 2 D) 24T 2

The total surf; : i i
rface area of a cone is 18 m? and-its slant height is double th-

radius of its base, then area of base of cone is

2
(A) 6 m (B} 12 m?2
(C) 18 m? - Q
. (D) 24 m?
o ‘Q\Q ) m
97. U& ¥AIY & dF T IR Er Tt : : :
Q\Q% - FEA: x?, y? ue zz%ﬂ’rﬂ‘-'-rﬁ:rﬁam—-:
: N\
Eaull @
[AJ 2 2.2
X Yy z _ (B) X2+y2+ z:)
C)  2xy:
(C) Xyz (D) xyz

The areas of three adjacent faces of a cuboid a 2 2
are x , 2
4" and ZT respectivels

Then the volume of the cuboid is
A x?yie?
_ 2
(B] X +y2 + 22

(€)  2xyz D) xyz
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98, 2! 7! 4!9 5 6
» 9, .IETqu@Em%
A) 6
E
Qs | B) 4
| D) 378 9 5= 5
Med1&nof2,7,49561. e
’ is
A) 6
(€) 5 o
(D) none of these
99. 5%&8,7,4,2,6,4,7,3@3@%
(A) 7
B) 5
€ 4 (D)
9
Mode 0{5,4, 9, 8,7,4,2,6,4,7 3is
A 7
(A) (B) S
C
C) 4 D) 9
. 100.

aaﬁm@ﬁ@w@%zﬁﬁ@@ﬁwwmﬁmmrr
mmﬁﬁaﬁgﬁfmwﬁrﬂ ?

1 %
—_— 1
i 3 ®

© =5 O E W

From a well-shuffled deck of 52 cards, one card is drawn at random. What is

the probability of getting a queen ?

l
4 (D}  none of these
© 39
— ]_,.2) 1 IOA 600 10-A - Page 37 of 44

Download all N(ﬁ"ﬁéﬂ d%b,&ﬁ)étﬂ%yact StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

@y - 4 / SECTION - B

g I W9 / Short Answer Type Questions

mmIﬁsowagm?hmflsﬁ#ﬁﬁ‘?Ifmf#’-mi’yﬁa a7 3

fere 2 o Fraffea 4

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15

15 x2 = 30

questions. Eu

question carmes 2 marks. 15«2+

. f5ud g3 & v @ afeto x2+6x45=0 H1 & R |

Using quadratic formula find the solutions of the equation %2 4+6x+5=0.
2. 0-6 H £ & wY d Gz | :
q

Convert 0-6 in the form of g

3. fog#ifF s+3 1= 3«3@0?@7%
>
S
N,
Prove that 5+J§${é an irrational number.

N\
4. AR A (@’ - 6x<6) F YA F NG 4 ¥ A o B AT 7 ¥

If the product of the zeros of the polynomial (qx? -6x-6) is 4. f d th
» ind the valu:

of a.
5. mﬂwmxwysg?wfar{mwﬁ@wﬁ%uqmﬁmw!

Find the set of solutions of the equation x + 2 :
¢ Y =9 in natura)]
Numbers.
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10.

11.

p%ﬂmm%mﬁmmwm%wmwmm# ?

4x+py+8=0QT=i 2x+2y+2=0. 2

For what v
al . N .
ue of p following pair of linear equations has a unique solution ?

4x+py+8=0 and 2x+2y+2=0.
et ey 2x+3y=7 AR 6x-Sy=11 F a7 F fafr & 71 FF 2

So -
Ive the system of equations 2x+3y=7 and 6x-Sy=11 by cross

multiplication method.
Eﬁmﬁ?ﬁﬁm%mﬁm4ﬁmsx+3=oé¥qﬁfﬁﬁfﬁaﬁﬁl 2

Without finding roots find the nature of roots of the quadratic equation

4x2_ 8x+3=0.

[ 2]

{40 3, 8, 13, 18, 23, ... FT 15 &7 @ p

What is the 15% term of@c AP:3,8,13,18,23,..?

56
AABCq pQ”ngQAP 8cm; AB= 12 cm, AO 3x cm Yl QC=(x+2)cm,

Fﬂxaﬂ‘:ﬂqfﬁﬁl 2

In AABC, PQ||BC,- AP =8 cm, AB= 12 ¢cm, AQ = 3x cm and QC = (x+2)cm,

then find the value of x.

b

afg m0=£,mxsin0+ycoaﬁﬂmiﬁﬁl
Y

If tanﬂ"—- then find the value of x sin 0 + y cos 0.

L2)1 10A [60010-A
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19 fqere . 8in30°+tan45° - coscc60°

8¢c30°+cos60°+ cot45°

sin30°+ tan45° — cosecbhb®

Evaluate :
8ec30° + cos 60° + cot 45°
13, W%ﬁmzzcmé.ﬁmmwmmﬁl 2
The circumference of a circle is 22 cm, then find the area of a quadrant.
14. AR fEg 0o, ), fegait p(s, - 3) %R R(x 6)3 U ¢, a1 x & T1F 74
HL 2
If point Q (0, 1) is equidistant from the points P(5,~3)and R( x, 6 ), then
find the value of x.
15. B ABC #1 sFm B w D% fag 38 7R ¥ & "% sapc = sBaC. fag 55 =
CA?=CBxCD. >
In AABC, D is a point on the side.BC such that £ZADC = £ZBAC. Prove tha:
CA%=CBxCD. https:r’r’\Q\ bsebstudy.com
9
16. Qma@fa'g,qﬁgg%ﬁ%éﬁ:ﬁ 10cmgﬁw%.qawwmi'@#rm
R ' !
8 cm &, @t g7 S fear WA :
From an external point A which is at a distance of 10 cm from the centre of
circle, length of a‘tangent on the circle is 8 cm, then find the radius of the cirel
e.
17. 3@ fag & fdvie wm &% fagai (4, - 3) ok (8.5) F M3 o1& tamaE 5
3:1 FqAa A sFafqwfad s & 5
Find the co-ordinates of the point which divides the line segment joining th
. e
points (4, -3 ) and (8, 5) in the ratio 3 : | internally.
(L-2)110A | 60010-A Page 40 of 44

https://www.bsebstudy.com

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

19,

21

22.

23

e ol e A S 14 cm R AN 30 AHT H STRA 264 cm? £ T T
MTAT §1 ¢,

b

The hei wli - '
cight of a cylinder is 14 em and its curved surface area is 264 cm?. Then
find the volume of cylinder.

uﬁaﬁﬂ&‘l‘lﬁﬂ?ﬁ 2x2+?x+5$?ﬁ$ﬁ,aﬁ a+B+aff FTAE FHH 2

If .
a and f are zeros of the quadratic polynomial 2x? +7x+5, then find the value

of a+fB+af.

8 % WUH |5 TS F ATES T Y | 3

Find the sum of first 15 multiples of 8.

UH TR H 3 A, 2 THE 7R 4 ot H9,E | 9w A O S qreesaq FEe o=

& @ 3IQ FI F TS a7 I Wiigmar ;=)
O

| >
A bex contains 3 bl @ white and 4 red marbles. If a marble is drawn at
random from the %@”what is the probability that it will be a white marble -

N
acmwm§imaﬁwumaﬂmmwmﬁmﬁrmmw

[

qﬂmmaﬁl >

~wo cubes of edge 8 cm are joined end to end to form a cuboid. Find the total

surface area of the resulting cuboid.
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The 2™ term of an A.P. is 13 and its 5" term is 25. Find its 17" term.
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24 faers fawer ueifeer & wEm e og i 38220 1 HoWo FHaTet | ’
Using Euclid’s division algorithm, find the HCF of 196 and 38220.

25, fogwife (1+tan®0) (1-sin0) (1+sin0)=1. ‘
Prove that (1+tan28) (1-sinB)(l+sinf)=1.

2. {ﬁqawmmmhq%%qﬁ(_l,a)_{g_1)34‘1'(('5,-”@13?%: 2
Using the distance formula, show that the points (- 1,3),(2,1)and (5, - !
are collinear.

27.  Trfafaa faem &1 are 519 553 - *-
T ST 0-10 10-20 20-30 | 30-40 | 40-30
AT 7 10 15 8 10
Find the mean of the follm@'ag distribution :
&
Class-interval - -
@& 0-10 10-20 20-30 | 30-40 | 40-50
Frequencpd 7
S 10 15 8 10
. NN -

28. U™ WaH 40 YA VNI &I AT A B 5 6 @ farwrew ¥
Find the sum/of first 40 positive integers which are divisible by ¢

29, ya;mﬂmmfaqﬁ@!m1.41.0134;)@9(—3.161%?? )

For what value of y the points P( 1, 4 ), Q(3,y)and R(-3 16 ) are coll;
' collinear ?
30. ﬁ'@ﬁ% (secA+tan A) (1 -sinA)=cosA.
2

Show that (secA+tanA) (1-sinA)=cosA.
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ﬁmﬂm/hng.ﬁnlwar Type Questions
m@31ﬁssMWWilwﬁH4mﬁ%mi:mm%
i_%‘rqsalwﬁufﬁ?rM 4x5=20

Question Nos. 3] t
. [&] -
38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks. 4x5=2
x5=20
31. [a) P we » .
?Fammgmwy:?mmx-awgaﬂmmmm%h 5
Draw the graph of pair of linear equations x + Yy =7and 2x- 3y = 9 and solve.

32. Hﬁ%ﬂ?ﬁﬁ%maﬂvﬁaﬁﬁzﬁﬁsﬁmm,ﬂaﬁ%ﬁaﬁ%lﬁaﬁr

w

aﬁrmaﬁifisvﬁgﬁmm,a}%gﬁmﬁ%lwﬁmmﬁ|

If 2 is added to both numerator and denominator of a fraction it becomes

9 PP . -
11 and if 3 is added to its numerator-and denominator it becomes -g- Find the
fraction. K\Q'Q\
§ _
33, Wﬁ%a&%@wa&@ﬁmamwwwm F A
U & I ﬁ@uﬁﬁ A oil o 5

- Prove that if a line ig drawn parallel to one side of a triangle. the other two sides

are divided in the same ratio.

o ~ cosecA cosecA 2
= A. S
34. feg &if® cosccA -1 cosecA +1 2sec -0

cosecA cosecA =2sec? A.

Page 43 of <+

. (L-2)110A [60010-A
' | https://www.bsebstudy.com

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Jx -

-

35. Uaimaﬂmﬂqm@gﬁrﬁmaﬂmwﬁw&lﬁwmﬂm*aﬁﬁﬁm

on

Wi{éwmﬁmﬂmao{ﬁm%mmaﬁmmaﬁl

The shadow of a tower standing on a level ground is found to be 30 m longer

when the sun'’s angle of elevation is 30°, than when it was 60°. Find the heigh

of the tower.

36. 6cm oW 1 vF oW Wi wE FH W 10 em W TS g A
I TEAT |

-l

Draw a circle of radius 6 cm. Construct a pair of tangents-to this circle from =

point 10 cm away from its centre.

37. wa?ﬁrvrwmmﬁm!ﬁvﬂé(~4,-2],[-3,-5),(3,-21 e
(2,3)81 5
Find the area of the quadrilateral whose vertices are (-4,-2),(-3,-5

(3,-2)and (2, 3).

$
N\
38, wwﬁﬁaﬁ%@qnw 15 femit/uer 2, U A fRwn F 30 fedt o o

ﬁmmaﬁh@wnaﬁﬁnﬁ4msomm%lmaﬁaﬂm

3
-

The speed of a-boat in still water is 15 km/hr. It goes 30 km ¢
ownstream and
returns back upstream in a total time of 4 hours 30
minutes. Fing the s
peed ot

the stream.
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